A KN TT 4 TERE D

%55 6 [l RS PR AR BRIV =4 N ) 7T 4 TR O

I 6 AREEEEEK T A N T T 4 T EORFHERSM LR TRS
M OET2EEREKBERE YA N 7T 4 T D EOERM LR 1 REE S
i H k2 96 H3H () -6H40 (RH)
= % BHCGEBAR Y =1 N 7T 4 7Y
(B Bt DY -3
A = 6 H3H ()
it HB B 222X 9:107E
B+ 5 3 keith ~ 6 2 ke #k (7 &)
o 8:00~9:00
i B A 10:00
BH1 6 9keh~ 7 7 keik (FrE)
B = 9:50~10:50
i B A 11:50¥F&E
HB+85ke~+105ketk (F&)
o = 11:20~12:20
i % B AR 13:20F%E
6448 (H)
AR
o = 8:00~9:00
i B A 10:00
PEXTE B TH (13 :00)
HASEEE AHH T
G BRI (LT3 AR (086) 279 0565



